
7 POINT MINIMUM 
SCENARIOS FOR THE 

2013 ELECTIONS

Monday, January 21, 13



KNOWN KNOWNS

IEBC December 18th 2012 Voter 
Register 

•GEMA Vote = 4,355,979

•Kalenjin Vote = 1,832,514

• Jubilee Coalition = 6,188,492
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KNOWN KNOWNS

IEBC December 18th 2012 Voter 
Register 

• Luo Vote = 1,676,428

•Kamba Vote = 1,069,529

•CORD Coalition = 2,745,957
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THE ANALYSIS

• The Jubilee vote (6.2 Million)  is 2.3 times that of 
CORD (2.7 Million)

• Every Luo and Kamba vote will have to be cast twice 
to catch up with the GEMA and Kalenjin vote
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COUNTY FACTS

• Jubilee will win 25% in at least 39 counties. Of the 39 
counties, 7 are marginal. 32 counties are bankable.

• CORD will win 25% in at least 28 counties. Of the 
28 counties, 7 are marginal. 21 counties are bankable

• Conclusion: The bare minimum number of 
counties is 24. Jubilee has 32 bankable counties while 
CORD has 21. This means that CORD could be in 
the red.
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KNOWN UNKNOWNS
• Jubilee has a higher chance of winning the 50%+1 

popular vote. It requires 1 Million votes to get to this 
mark

• CORD requires 4.3 Million votes to get to the 50%+1 
mark

• For every 1 vote required by Jubilee to get to the 50%+1 
mark, CORD requires 4 votes. The level of effort is 4:1

• Analysis: For CORD to win in round 1, (7,168,700+1) 
they require the support of all Luos (1.6 M), 80% of the 
Kamba (1M) and the entire GEMA vote (4.3M) = 6.9M 
+ about 200,000 Bukusu Votes
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UNKNOWN UNKNOWNS

• These are things that we do not know that we do not 
know

• Untimely death of incumbent president. This means 
that the current VP assumes office.

• A dysfunctional cabinet. In the event of an electoral 
crisis, cabinet will not be able to resolve it because of 
internal polarities. The defence council, which activates 
the military will step in.
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ENDS
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